



A GENERALIZED BECKENBACH–DRESHER INEQUALITY AND RELATED RESULTS

SANJA VAROŠANEC¹

In honour of Professor Lars-Erik Persson on the occasion of his 65th birthday

Communicated by J. E. Pečarić

ABSTRACT. After a short expose of the history of the Beckenbach–Dresher inequality, general result and the Aczél type inequality are given and super(sub)additivity of the function $G_{p,q,u}(f,g;A,B) := \frac{A^{\frac{u}{p}}(f^p)}{B^{\frac{u-1}{q}}(g^q)}$ is proved. Also, a difference which is inspired by one integral analogue of the Beckenbach–Dresher inequality is considered.

1. PRELIMINARIES AND HISTORY

Almost sixty years ago E.F Beckenbach [1] published an inequality, which has aroused interest until nowadays. He proved that for positive real numbers $x_i, y_i > 0$, $i = 1, \dots, n$ and for $1 \leq p \leq 2$ the following inequality

$$\frac{\sum_{i=1}^n (x_i + y_i)^p}{n} \leq \frac{\sum_{i=1}^n x_i^p}{n} + \frac{\sum_{i=1}^n y_i^p}{n}$$
$$\frac{\sum_{i=1}^n (x_i + y_i)^{p-1}}{n} \leq \frac{\sum_{i=1}^n x_i^{p-1}}{n} + \frac{\sum_{i=1}^n y_i^{p-1}}{n}$$

is valid. If $0 \leq p \leq 1$, then the inequality is reversed.

Date: Received: 30 September 2009; Accepted: 19 December 2009.

The research was supported by the Ministry of Science, Education and Sports of the Republic of Croatia under grant 058-1170889-1050.

2000 *Mathematics Subject Classification.* Primary 26D15; Secondary 39B62.

Key words and phrases. Beckenbach–Dresher inequality, difference, Hölder’s inequality, Minkowski’s inequality, superadditivity.

Few years later M. Dresher [5] investigated moment spaces and stated that an integral analogue of the previous result holds. In fact he proved that if $p \geq 1 \geq q \geq 0$, and $f, g \geq 0$, then

$$\left(\frac{\int (f+g)^p d\varphi}{\int (f+g)^q d\varphi} \right)^{\frac{1}{p-q}} \leq \left(\frac{\int f^p d\varphi}{\int f^q d\varphi} \right)^{\frac{1}{p-q}} + \left(\frac{\int g^p d\varphi}{\int g^q d\varphi} \right)^{\frac{1}{p-q}}.$$

Some related results can be found in [3], [4] and [7]. In recent literature the above inequality is called the Beckenbach–Dresher inequality.

Three decades later some new, more general results appeared. Firstly, in [9], J. Pečarić and P.R. Beesack introduced two new moments: sums and integrals are substituted by isotonic linear functionals and functions, which appeared in the numerator are different than functions in the denominator. Namely, they gave the following theorem.

Theorem 1.1. *Let $A, B : L \rightarrow \mathbb{R}$ be two isotonic linear functionals and $f_i, u_i : E \rightarrow [0, \infty)$, ($i = 1, \dots, n$), be functions such that $f_i^p, u_i^q, (\sum_{i=1}^n f_i)^p, (\sum_{i=1}^n u_i)^q \in L$, where $0 < q < 1 \leq p$ and $B(u_i^q) > 0$. Then*

$$\left[\frac{A \left(\sum_{i=1}^n f_i^p \right)}{B \left(\sum_{i=1}^n u_i^q \right)} \right]^{\frac{1}{p-q}} \leq \sum_{i=1}^n \left[\frac{A(f_i^p)}{B(u_i^q)} \right]^{\frac{1}{p-q}}.$$

In this text we denote by L a class of real-valued functions on non-empty set E with the properties: if $f, g \in L$, then $(af + bg) \in L$ for all $a, b \in \mathbb{R}$; and the function $\mathbf{1}$ belongs to L , where $\mathbf{1}(t) = 1$ for $t \in E$. A functional $A : L \rightarrow \mathbb{R}$ is called an isotonic linear functional if

A1. $A(af + bg) = aA(f) + bA(g)$ for $f, g \in L$, $a, b \in \mathbb{R}$;

A2. $f \in L$, $f(t) \geq 0$ on E implies $A(f) \geq 0$.

Almost in the same time J. Petree and L.E. Persson published another generalization of Beckenbach–Dresher inequality, [11]. They also include isotonic linear functionals, but with the same functions as arguments and they introduced a new, the third positive parameter u .

Theorem 1.2. *Let $A, B : L \rightarrow \mathbb{R}$ be two isotonic linear functionals and $f_i, u_i : E \rightarrow [0, \infty)$, ($i = 1, \dots, n$), be functions such that $f_i^p, f_i^q, (\sum_{i=1}^n f_i)^p, (\sum_{i=1}^n f_i)^q \in L$, ($i = 1, \dots, n$).*

If $u \geq 1$ and $q \leq 1 \leq p$ ($q \neq 0$), then

$$\frac{A^{\frac{u}{p}} \left(\sum_{i=1}^n f_i^p \right)}{B^{\frac{u-1}{q}} \left(\sum_{i=1}^n f_i^q \right)} \leq \sum_{i=1}^n \frac{A^{\frac{u}{p}} (f_i^p)}{B^{\frac{u-1}{q}} (f_i^q)}. \quad (1.1)$$

If $0 < u \leq 1$, $p \leq 1$ and $q \leq 1$, $p, q \neq 0$, then the inequality is reversed.

While the result from [9] was proved using the functional version of the Minkowski and Hölder inequalities, above result is a consequence of the following more general theorem ([8], [11]).

Theorem 1.3. Let $F : \mathbb{R}_+^n \rightarrow \mathbb{R}_+$ be an increasing function and let $g : D \rightarrow \mathbb{R}_+$ be superadditive.

a) If F is convex and $f : D \rightarrow \mathbb{R}_+^n$ is subadditive, then

$$g(x+y)F\left(\frac{f(x+y)}{g(x+y)}\right) \leq g(x)F\left(\frac{f(x)}{g(x)}\right) + g(y)F\left(\frac{f(y)}{g(y)}\right).$$

b) If F is concave and f is superadditive, then inequality holds in the opposite direction.

Putting $f(z) = A^{1/p}(z^p)$, $g(z) = B^{1/q}(z^q)$, $F(z) = z^u$ we get inequality (1.1).

Finally, in [6] B. Guljaš, C.E.M. Pearce and J. Pečarić generalized the set of indices and gave another integral analogues, which can not be obtained from earlier functional versions given in [9] and [11]. Also, they considered a limiting case, when one or both parameters p and q tend to 0.

Theorem 1.4. Let (X, Σ_X, μ) , (Y, Σ_Y, ν) and (Y, Σ_Y, λ) be measure spaces. Let f, g be non-negative functions on $X \times Y$ such that f is integrable with respect to the measure $(\mu \times \nu)$ and g is integrable with respect to $(\mu \times \lambda)$.

a) If

(i) $u \geq 1$ and $q \leq 1 \leq p$ ($q \neq 0$), or

(ii) $u < 0$ and $p \leq 1 \leq q$ ($p \neq 0$), and all terms exist, then

$$\frac{\left(\int_Y \left(\int_X f(x, y) d\mu(x) \right)^p d\nu(y) \right)^{\frac{u}{p}}}{\left(\int_Y \left(\int_X g(x, y) d\mu(x) \right)^q d\lambda(y) \right)^{\frac{u-1}{q}}} \leq \int_X \frac{\left(\int_Y f^p(x, y) d\nu(y) \right)^{\frac{u}{p}}}{\left(\int_Y g^q(x, y) d\lambda(y) \right)^{\frac{u-1}{q}}} d\mu(x). \quad (1.2)$$

If (iii) $0 < u \leq 1$, $p \geq 1$ and $q \leq 1$, $p, q \neq 0$, then the inequality is reversed.

b) If $u \geq 1$ and $p \leq 1$, then

$$\begin{aligned} & \left(\int_Y \left(\int_X f(x, y) d\mu(x) \right)^p d\nu(y) \right)^{\frac{u}{p}} \exp \left(\frac{1-u}{\int_Y d\lambda} \int_Y \log \left(\int_X g(x, y) d\mu(x) \right) d\lambda(y) \right) \\ & \leq \int_X \left(\int_Y f^p(x, y) d\nu(y) \right)^{\frac{u}{p}} \exp \left(\frac{1-u}{\int_Y d\lambda} \int_Y \log g(x, y) d\lambda(y) \right) d\mu(x). \end{aligned}$$

It is worthy to say that the above inequalities describe some properties of different means such as a counter-harmonic mean, the Gini mean, the Stolarsky mean, etc. More about those means a reader can find in monograph [2].

2. GENERALIZED BECKENBACH–DRESHER INEQUALITY AND INEQUALITY OF THE ACZÉL TYPE

The next theorem is obtained combining results of Theorems 1.1 and 1.2.

Theorem 2.1. (*Generalized Beckenbach–Dresher inequality*)

Let $A, B : L \rightarrow \mathbb{R}$ be two isotonic linear functionals and $f_i, u_i : E \rightarrow [0, \infty)$, ($i = 1, \dots, n$), be functions such that f_i^p, u_i^q , $(\sum_{i=1}^n f_i)^p$, $(\sum_{i=1}^n u_i)^q \in L$ and $A(f_i^p), B(u_i^q)$, $A((\sum_{i=1}^n f_i)^p)$, $B((\sum_{i=1}^n u_i)^q)$ are positive for some real p, q . If either

- (i) $u \geq 1$ and $q \leq 1 \leq p$ ($q \neq 0$), or
- (ii) $u < 0$ and $p \leq 1 \leq q$ ($p \neq 0$), then

$$\frac{A^{\frac{u}{p}} \left(\left(\sum_{i=1}^n f_i \right)^p \right)}{B^{\frac{u-1}{q}} \left(\left(\sum_{i=1}^n u_i \right)^q \right)} \leq \sum_{i=1}^n \frac{A^{\frac{u}{p}} (f_i^p)}{B^{\frac{u-1}{q}} (u_i^q)}. \quad (2.1)$$

If $0 < u \leq 1$, $p \leq 1$ and $q \leq 1$, $p, q \neq 0$, then the inequality (2.1) is reversed.

Proof. The proof is based on the idea from [9]. Let $u \geq 1$ and $q \leq 1 \leq p$ ($q \neq 0$). Then using the functional Minkowski inequality ([10, p.114]) we get

$$\begin{aligned} \frac{A^{\frac{u}{p}} \left(\left(\sum_{i=1}^n f_i \right)^p \right)}{B^{\frac{u-1}{q}} \left(\left(\sum_{i=1}^n u_i \right)^q \right)} &\leq \frac{[\sum_{i=1}^n A^{1/p}(f_i^p)]^u}{[\sum_{i=1}^n B^{1/q}(u_i^q)]^{u-1}} \\ &= \left[\sum_{i=1}^n A^{1/p}(f_i^p) \right]^u \left[\sum_{i=1}^n B^{1/q}(u_i^q) \right]^{1-u} \\ &\leq \sum_{i=1}^n A^{u/p}(f_i^p) B^{(1-u)/q}(u_i^q) = \sum_{i=1}^n \frac{A^{\frac{u}{p}} (f_i^p)}{B^{\frac{u-1}{q}} (u_i^q)}, \end{aligned}$$

where in the last inequality the functional Hölder inequality, ([10, p.113]), is used with conjugate exponents $u \geq 0$ and $1 - u \leq 0$. The other cases are proved similarly. \square

Next theorem is the Aczél-type result for Generalized Beckenbach–Dresher inequality.

Theorem 2.2. Let $A, B : L \rightarrow \mathbb{R}$ be two isotonic linear functionals, $f_{0,i}, u_{0,i} > 0$ and $f_i, u_i : E \rightarrow [0, \infty)$, ($i = 1, \dots, n$), be functions such that f_i^p, u_i^q , $(\sum_{i=1}^n f_i)^p$,

$(\sum_{i=1}^n u_i)^q \in L$ and $f_{0,i}^p - A(f_i^p), u_{0,i}^q - B(u_i^q), (\sum_{i=1}^n f_{0,i})^p - A((\sum_{i=1}^n f_i)^p),$
 $(\sum_{i=1}^n u_{0,i})^q - B((\sum_{i=1}^n u_i)^q)$ are positive for some real p, q . If either
 (i) $u \geq 1, (0 < p \leq 1)$ and $(q \leq 1$ or $q < 0)$ or
 (ii) $u < 0, (0 < q \leq 1)$ and $(p \leq 1$ or $p < 0)$, then

$$\frac{\left(\left(\sum_{i=1}^n f_{0,i} \right)^p - A \left(\left(\sum_{i=1}^n f_i \right)^p \right) \right)^{\frac{u}{p}}}{\left(\left(\sum_{i=1}^n u_{0,i} \right)^q - B \left(\left(\sum_{i=1}^n u_i \right)^q \right) \right)^{\frac{u-1}{q}}} \leq \sum_{i=1}^n \frac{(f_{0,i}^p - A(f_i^p))^{\frac{u}{p}}}{(u_{0,i}^q - B(u_i^q))^{\frac{u-1}{q}}}.$$

If $0 < u \leq 1, (q \geq 1$ or $q < 0)$ and $(p \geq 1$ or $p < 0)$, then the inequality is reversed.

The proof is very similar to the previous proof but instead of the Minkowski inequality we use the Bellman inequality, ([10, p.125]).

Let p, q, u be real numbers and let $G_{p,q,u}(f, g; A, B)$ be a mapping defined as

$$G_{p,q,u}(f, g; A, B) := \frac{A^{\frac{u}{p}}(f^p)}{B^{\frac{u-1}{q}}(g^q)},$$

where A and B are isotonic linear functionals on L and f and g are positive functions, $f^p, g^q \in L$. Theorem 2.1 can be read as the following: the mapping $G_{p,q,u}(f, g; A, B)$ is super(sub)additive in arguments f and g for certain choices of parameters p, q and u . But we have superadditivity in the other two arguments. Namely, the following theorem holds.

Theorem 2.3. *If p, q and u satisfy*

(a) $u \geq 1, (p < 0$ or $p \geq 1)$ and $0 < q \leq 1$

or

(b) $u < 0, 0 < p \leq 1$ and $(q < 0$ or $q \geq 1)$, then

$$G_{p,q,u}(f, g; A_1 + A_2, B_1 + B_2) \leq G_{p,q,u}(f, g; A_1, B_1) + G_{p,q,u}(f, g; A_2, B_2),$$

where A_1, A_2, B_1, B_2 are isotonic linear functionals and f and g are positive functions such that the above terms exist.

If (c) $0 < u \leq 1, 0 < p \leq 1$ and $0 < q \leq 1$, then the inequality is reversed.

Proof. Let us suppose that $u \geq 1, (p < 0$ or $p \geq 1)$ and $0 < q \leq 1$. Using subadditivity of the function $x^{1/p}$ for $p < 0$ or $p \geq 1$ and superadditivity of the function $x^{1/q}$ for $0 < q \leq 1$, and using the Hölder inequality we have the following

$$\begin{aligned} G_{p,q,u}(f, g; A_1 + A_2, B_1 + B_2) &= \left((A_1 + A_2)^{\frac{u}{p}}(f^p) \right) \left((B_1 + B_2)^{\frac{1-u}{q}}(g^q) \right) \\ &\leq \left(A_1^{\frac{1}{p}}(f^p) + A_2^{\frac{1}{p}}(f^p) \right)^u \left(B_1^{\frac{1}{q}}(g^q) + B_2^{\frac{1}{q}}(g^q) \right)^{1-u} \\ &\leq A_1^{\frac{u}{p}}(f^p) B_1^{\frac{1-u}{q}}(g^q) + A_2^{\frac{u}{p}}(f^p) B_2^{\frac{1-u}{q}}(g^q) \\ &= G_{p,q,u}(f, g; A_1, B_1) + G_{p,q,u}(f, g; A_2, B_2). \end{aligned}$$

The other cases are proved on the similar way. □

As a simple consequence of the previous theorem we have the following corollary.

Corollary 2.4. *Let w_1 and w_2 be non-negative functions, A and B be isotonic linear functionals on L and f and g be positive functions such that $w_1 f^p$, $w_2 f^p$, $w_1 g^q$, $w_2 g^q \in L$. Let us denote $G(w) = \frac{A^{\frac{u}{p}}(w f^p)}{B^{\frac{u-1}{q}}(w g^q)}$.*

If p, q, u satisfy (a) or (b) of the previous theorem, then

$$G(w_1 + w_2) \leq G(w_1) + G(w_2). \quad (2.2)$$

If p, q, u satisfy (c), then the inequality (2.2) is reversed and if $w_1 \leq w_2$, then

$$G(w_1) \leq G(w_2).$$

Proof. Putting $A_i(f) = A(w_i f)$ and $B_i(g) = B(w_i g)$, $i = 1, 2$ in Theorem 2.3 we obtain the statement of the corollary. \square

3. INTEGRAL BECKENBACH–DRESHER DIFFERENCE

Let (X, Σ_X, μ) , (Y, Σ_Y, ν) and (Y, Σ_Y, λ) be measure spaces. Let f, g be non-negative functions on $X \times Y$ such that f is integrable with respect to the measure $(\mu \times \nu)$ and g is integrable with respect to $(\mu \times \lambda)$.

An integral Beckenbach–Dresher difference $BD_1(\mu)$ is defined as

$$BD_1(\mu) = \int_X \frac{\left(\int_Y f^p(x, y) d\nu(y) \right)^{\frac{u}{p}}}{\left(\int_Y g^q(x, y) d\lambda(y) \right)^{\frac{u-1}{q}}} d\mu(x) - \frac{\left(\int_Y \left(\int_X f(x, y) d\mu(x) \right)^p d\nu(y) \right)^{\frac{u}{p}}}{\left(\int_Y \left(\int_X g(x, y) d\mu(x) \right)^q d\lambda(y) \right)^{\frac{u-1}{q}}},$$

where we suppose that all terms exist.

Theorem 3.1. *If*

- (i) $u \geq 1$ and $q \leq 1 \leq p$ ($q \neq 0$), or
- (ii) $u < 0$ and $p \leq 1 \leq q$ ($p \neq 0$), and all terms exist, then

$$BD_1(\mu_1 + \mu_2) \geq BD_1(\mu_1) + BD_1(\mu_2) \quad (3.1)$$

and if $\mu_2 - \mu_1$ is a measure, then

$$BD_1(\mu_1) \leq BD_1(\mu_2). \quad (3.2)$$

Also, if M and m are real numbers such that $M \geq m \geq 0$ and $\mu_1 - m\mu_2$ and $M\mu_2 - \mu_1$ are measures, then

$$M \cdot BD_1(\mu_2) \geq BD_1(\mu_1) \geq m \cdot BD_1(\mu_2). \quad (3.3)$$

If (iii) $0 < u \leq 1$, $p \leq 1$ and $q \leq 1$, $p, q \neq 0$, then the inequalities (3.1), (3.2) and (3.3) are reversed.

Proof. Let us suppose that (i) or (ii) is valid. Then we have

$$BD_1(\mu_1 + \mu_2) - BD_1(\mu_1) - BD_1(\mu_2) =$$

$$\begin{aligned}
&= \frac{\left(\int_Y \left(\int_X f(x, y) d\mu_1(x)\right)^p d\nu(y)\right)^{\frac{u}{p}}}{\left(\int_Y \left(\int_X g(x, y) d\mu_1(x)\right)^q d\lambda(y)\right)^{\frac{u-1}{q}}} + \frac{\left(\int_Y \left(\int_X f(x, y) d\mu_2(x)\right)^p d\nu(y)\right)^{\frac{u}{p}}}{\left(\int_Y \left(\int_X g(x, y) d\mu_2(x)\right)^q d\lambda(y)\right)^{\frac{u-1}{q}}} \\
&- \frac{\left(\int_Y \left(\int_X f(x, y) d\mu_1(x) + \int_X f(x, y) d\mu_2(x)\right)^p d\nu(y)\right)^{\frac{u}{p}}}{\left(\int_Y \left(\int_X g(x, y) d\mu_1(x) + \int_X g(x, y) d\mu_2(x)\right)^q d\lambda(y)\right)^{\frac{u-1}{q}}} \\
&\geq 0,
\end{aligned}$$

where in the last inequality we use (1.2) from Theorem 1.4, when the measure ν is discrete.

Using the result of Theorem 1.4 that if (i) or (ii) are satisfied, then $BD_1(\mu) \geq 0$, we have

$$\begin{aligned}
BD_1(\mu_2) &= BD_1(\mu_1 + (\mu_2 - \mu_1)) \\
&\geq BD_1(\mu_1) + BD_1(\mu_2 - \mu_1) \geq BD_1(\mu_1).
\end{aligned}$$

□

For fixed measures μ, ν, λ and functions f and g we define a difference BD_2 on the following way

$$\begin{aligned}
BD_2(A) &= \int_A \frac{\left(\int_Y f^p(x, y) d\nu(y)\right)^{\frac{u}{p}}}{\left(\int_Y g^q(x, y) d\lambda(y)\right)^{\frac{u-1}{q}}} d\mu(x) \\
&- \frac{\left(\int_Y \left(\int_A f(x, y) d\mu(x)\right)^p d\nu(y)\right)^{\frac{u}{p}}}{\left(\int_Y \left(\int_A g(x, y) d\mu(x)\right)^q d\lambda(y)\right)^{\frac{u-1}{q}}},
\end{aligned}$$

where A is a subset of X .

For BD_2 the following result holds.

Theorem 3.2. *If (i) or (ii) from Theorem 3.1 is valid and if $A_1, A_2 \subseteq X$, $A_1 \cap A_2 = \emptyset$, then*

$$BD_2(A_1 \cup A_2) \geq BD_2(A_1) + BD_2(A_2).$$

If $A_1 \subseteq A_2$, then

$$BD_2(A_1) \leq BD_2(A_2).$$

Especially, if S_k is a subset of X with k elements and if $S_m \supset S_{m-1} \supset \dots \supset S_2$, then we have

$$BD_2(S_m) \geq BD_2(S_{m-1}) \geq \dots \geq BD_2(S_2) \geq 0$$

and

$$BD_2(S_m) \geq \max\{BD_2(S_2) : S_2 \text{ is any subset of } S_m \text{ with 2 elements}\}.$$

If (iii) from Theorem 3.1 is valid, then the above inequalities are reversed with $\max \rightarrow \min$.

REFERENCES

1. E.F. Beckenbach, *A class of mean-value functions*, Amer. Math. Monthly **57** (1950), 1–6.
2. P.S. Bullen, *Handbook of Means and Their Inequalities*, Kluwer Academic Publishers, Dordrecht, 2003.
3. M. Danskin, *Dresher's inequality*, Amer. Math. Monthly **49** (1952), 687–688.
4. Z. Daroczy, *Einige Ungleichungen über die mit Gewichtsfunktionen gebildeten Mittelwerte*, Monatsh. Math. **68** (1964), 102–112.
5. M. Dresher, *Moment spaces and inequalities*, Duke Math. J. **20** (1953), 261–271.
6. B. Guljaš, C.E.M. Pearce and J. Pečarić, *Some generalizations of the Beckenbach–Dresher inequality*, Houston J. Math. **22** (1996), 629–638.
7. L. Losonczi, *Inequalities for integral mean values*, J. Math. Anal. Appl. **61** (1977), 587–606.
8. D.S. Mitrinović, J.E. Pečarić and L.-E. Persson, *On a general inequality with applications*, Z. Anal. Anwend. **2** (1992), 285–290.
9. J.E. Pečarić and P.R. Beesack, *On Jessen's inequality for convex functions II*, J. Math. Anal. Appl. **118** (1986), 125–144.
10. J.E. Pečarić, F. Proschan and Y.L. Tong, *Convex Functions, Partial Orderings, and Statistical Applications*, Academic Press, Inc., San Diego, 1992.
11. J. Peetre and L.-E. Persson, *A general Beckenbach's inequality with applications*, In Function Spaces, Differential Operators and Nonlinear Analysis, Pitman Res. Notes Math. Ser. **211** (1989), 125–139.

¹ DEPARTMENT OF MATHEMATICS, UNIVERSITY OF ZAGREB, 10000 ZAGREB, CROATIA.
E-mail address: varosans@math.hr